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Lesson Quiz 31-4 networks

A Troubled Nation |

DIRECTIONS: Completion Enter the appropriate word(s) to complete the statement.

1.

In 1991 coalition forces launched Operation Desert Storm, an invasion of the country of

In 1989 President Bush sent U.S. troops to to overthrow the
corrupt dictator Manuel Noriega.

The democratic movement spread across Eastern as a result
of a relaxation of Soviet control.

In 1989 the Communist government opened the , and East
Germany and West Germany were finally united.

In May 1989, students and workers staged protests in Tiananmen Square, calling for
democracy in the country of

DIRECTIONS: Multiple Choice Indicate the answer choice that best completes the
statement or answers the question.
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6. Who won the 1988 Democratic presidential nomination?

A. George H. W. Bush C. Michael Dukakis
B. Geraldine Ferraro D. Walter Mondale

7. The United States and the Soviet Union agreed to destroy existing nuclear
weapons in an agreement called

A. INF. C. Star Wars.
B. SDI. D. START.

8. Who was the leader of Solidarity, a labor union of Poland?

A. Boris Yeltsin C. Mikhail Gorbachev
B. Lech Walesa D. Saddam Hussein

9. Who banned the Communist Party in Russia?

A. Boris Yeltsin C. Mikhail Gorbachev
B. George H. W. Bush D. Ronald Reagan

10. What was the result of Saddam Hussein’s invasion of Kuwait?

A. acoup

B. breaking of diplomatic ties

C. Persian Gulf War

D. withdrawal of American troops
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